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Introduction

Plots showing the beam core (x,y) and width at end of LEBT:

- Investigation of effect of solenoids and dipoles using pencil beam:
« 3 mm radius aperture inserted into post-acceleration section

- 2D profile images from Quartz scintillator & CCD camera 240 mm from
end of LEBT: fit Gaussian functionstoget y & o

- Results from August (& June) data alignment campaigns:
Christoph, Dan and Scott

Some comparisons with GPT simulation

- Need to tilt B field maps in x and y (¢~ = 10 mr)

- Using measured FETS field map (x-z plane): x-y symmetry
Some of these results shown at ICIS'13 conference

Labels on plots:

- S1 = Solenoid 1, DV1 (DH1) = vertical (horizontal) dipole 1 etc...
- Solenoids & dipoles current in Amps; minus sign = reversed polarity
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Example beam profile fit procedure
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S1, 50 keV (August Data)

[Solenoid, Horiz Dipole, Vert Dipole]

y (mm)

B [0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]
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S1, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

y (mm)

B [0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]
30 — —— [20.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]
— —A— [40.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]
20— —/— [60.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]
L —F+}— 80.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]
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-S2, 65 keV
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PTErh et eR ety

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-20.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-40.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-60.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-80.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-100.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-120.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-140.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-160.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-180.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-220.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [-240.0,0.0,0.0] [0.0,0.0,0.0]




S3, 65 keV
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PTErh et eR ety

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [20.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [40.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [60.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [80.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [100.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [120.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [140.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [160.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [180.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [200.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [220.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [240.0,0.0,0.0]




S1-52, 65 keV
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PEETR et eR ety

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[20.0,0.0,0.0] [-20.0,0.0,0.0] [0.0,0.0,0.0]

[40.0,0.0,0.0] [-40.0,0.0,0.0] [0.0,0.0,0.0]

[60.0,0.0,0.0] [-60.0,0.0,0.0] [0.0,0.0,0.0]

[80.0,0.0,0.0] [-80.0,0.0,0.0] [0.0,0.0,0.0]

[100.0,0.0,0.0] [-100.0,0.0,0.0] [0.0,0.0,0.0]

[120.0,0.0,0.0] [-120.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [-140.0,0.0,0.0] [0.0,0.0,0.0]

[160.0,0.0,0.0] [-160.0,0.0,0.0] [0.0,0.0,0.0]

[180.0,0.0,0.0] [-180.0,0.0,0.0] [0.0,0.0,0.0]

[200.0,0.0,0.0] [-200.0,0.0,0.0] [0.0,0.0,0.0]

[220.0,0.0,0.0] [-220.0,0.0,0.0] [0.0,0.0,0.0]

[240.0,0.0,0.0] [-240.0,0.0,0.0] [0.0,0.0,0.0]




S1-S2 S3, 65 keV
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PEETR et eR ety

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[20.0,0.0,0.0] [-20.0,0.0,0.0] [20.0,0.0,0.0]

[40.0,0.0,0.0] [-40.0,0.0,0.0] [40.0,0.0,0.0]

[60.0,0.0,0.0] [-60.0,0.0,0.0] [60.0,0.0,0.0]

[80.0,0.0,0.0] [-80.0,0.0,0.0] [80.0,0.0,0.0]

[100.0,0.0,0.0] [-100.0,0.0,0.0] [100.0,0.0,0.0]

[120.0,0.0,0.0] [-120.0,0.0,0.0] [120.0,0.0,0.0]

[140.0,0.0,0.0] [-140.0,0.0,0.0] [140.0,0.0,0.0]

[160.0,0.0,0.0] [-160.0,0.0,0.0] [160.0,0.0,0.0]

[180.0,0.0,0.0] [-180.0,0.0,0.0] [180.0,0.0,0.0]

[200.0,0.0,0.0] [-200.0,0.0,0.0] [200.0,0.0,0.0]

[220.0,0.0,0.0] [-220.0,0.0,0.0] [220.0,0.0,0.0]

[240.0,0.0,0.0] [-240.0,0.0,0.0] [240.0,0.0,0.0]




S1+S52, 65 keV
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PEETR et eR ety

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[20.0,0.0,0.0] [20.0,0.0,0.0] [0.0,0.0,0.0]

[40.0,0.0,0.0] [40.0,0.0,0.0] [0.0,0.0,0.0]

[60.0,0.0,0.0] [60.0,0.0,0.0] [0.0,0.0,0.0]

[80.0,0.0,0.0] [80.0,0.0,0.0] [0.0,0.0,0.0]

[100.0,0.0,0.0] [100.0,0.0,0.0] [0.0,0.0,0.0]

[120.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [140.0,0.0,0.0] [0.0,0.0,0.0]

[160.0,0.0,0.0] [160.0,0.0,0.0] [0.0,0.0,0.0]

[180.0,0.0,0.0] [180.0,0.0,0.0] [0.0,0.0,0.0]

[200.0,0.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[220.0,0.0,0.0] [220.0,0.0,0.0] [0.0,0.0,0.0]

[240.0,0.0,0.0] [240.0,0.0,0.0] [0.0,0.0,0.0]




S1 140A +S2, 65 keV
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PEErh et eR ety

[140.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [20.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [40.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [60.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [80.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [100.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [140.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [160.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [180.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [220.0,0.0,0.0] [0.0,0.0,0.0]

[140.0,0.0,0.0] [240.0,0.0,0.0] [0.0,0.0,0.0]




Dipole S1, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]
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PPTRO T eR e

[0.0,1.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,-1.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,1.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,-1.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,2.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,-2.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,2.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,-2.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,-3.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,3.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,-3.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,3.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




Dipole S2, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

[0.0,0.0,0.0] [0.0,1.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,-1.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,1.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,-1.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,2.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,-2.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,2.0] [0.0,0.0,0.0]

| 1@

0
1 e ,‘L%)_
il

[0.0,0.0,0.0] [0.0,0.0,-2.0] [0.0,0.0,0.0]
[0.0,0.0,0.0] [0.0,-3.0,0.0] [0.0,0.0,0.0]
[0.0,0.0,0.0] [0.0,3.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,-3.0] [0.0,0.0,0.0]

PPTRO T eR e

[0.0,0.0,0.0] [0.0,0.0,3.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




Dipole S3, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

PPTRO T eR e

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,1.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,-1.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,1.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,-1.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,2.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,-2.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,2.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,-2.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,-3.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,3.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,-3.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,3.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




Dipole runs 048-061, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

P g

DI S

[200.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,-1.5,-1.8] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [120.0,-0.4,0.3] [0.0,0.0,0.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [160.0,0.9,1.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [160.0,0.9,1.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.9,1.0]

[0.0,0.0,0.0] [0.0,-0.4,0.3] [0.0,0.0,0.0]

[0.0,-1.5,-1.8] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




Dipole runs 062-069, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

[0.0,-4.0,9.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,-4.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,-1.6,-0.5] [0.0,0.0,0.0]

[130.0,-1.0,0.7] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,-1.5,-1.8] [120.0,0.0,0.0] [0.0,0.0,0.0]

— 55—
— A
—A—— [130.0,0.0,0.0] [120.0,0.0,0.0] [0.0,-3.0,-0.2]
. w A
— 55—
— A

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




S1 130A + S2 120A, DH1, 65 keV
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[Solenoid, Horiz Dipole, Vert Dipole]

O
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S
=
e
oA
S
=
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[130.0,-9.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,-8.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,-7.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,-5.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,-2.5,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,2.5,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,5.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,7.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,9.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




S1 130A + S2 120A, DV1, 65 keV

L
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[Solenoid, Horiz Dipole, Vert Dipole]

O
oA
=
=
oA
e
R
O

[130.0,0.0,-9.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,-7.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,-5.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,-2.5] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,2.5] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,5.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,7.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,9.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




S1 130A+ S2 120A, DH2, 65 keV
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[Solenoid, Horiz Dipole, Vert Dipole]

O
oA
=
=
oA
e
R
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[130.0,0.0,0.0] [120.0,-9.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,-7.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,-5.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,-2.5,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,2.5,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,5.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,7.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,8.0,0.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




[Solenoid, Horiz Dipole, Vert Dipole]

S1 130A + S2 120A, DV2, 65 keV

O
oA
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S
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[130.0,0.0,0.0] [120.0,0.0,-9.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,-7.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,-5.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,-2.5] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,2.5] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,5.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,7.0] [0.0,0.0,0.0]

[130.0,0.0,0.0] [120.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




S2 120A + S3 80A, DH3, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,-9.0,0.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,-5.0,0.0]

— 55—
—A—— [0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,-7.0,0.0]
S w A
—

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,-2.5,0.0]

——(>— [0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,2.5,0.0]
% %M'Lw —A—— [0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,5.0,0.0]

.
—/— [0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,7.0,0.0]
—f—+— [0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,9.0,0.0]
— 55—

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]

-20 0 20 40 60



S2 120A + S3 80A, DV3, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]
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[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,-9.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,-7.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,-5.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,-2.5]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,2.5]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,5.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,7.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,9.0]

[0.0,0.0,0.0] [120.0,0.0,0.0] [80.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




S2 200A, DH1, 65 keV
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[Solenoid, Horiz Dipole, Vert Dipole]

O
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=
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e
R
O

[0.0,-8.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,-7.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,-5.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,-2.5,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,1.5,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,2.5,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,4.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,5.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




S2 200A, DV1, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

[0.0,0.0,-9.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,-5.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

— 55—
—A——  [0.0,0.0,-7.0] [200.0,0.0,0.0] [0.0,0.0,0.0]
S w A
—

[0.0,0.0,-2.5] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.8] [200.0,0.0,0.0] [0.0,0.0,0.0]

oy
[0.0,0.0,1.5] [200.0,0.0,0.0] [0.0,0.0,0.0]

%4(— —/— [0.0,0.0,2.5] [200.0,0.0,0.0] [0.0,0.0,0.0]
% —F— 10.0,0.0,3.5] [200.0,0.0,0.0] [0.0,0.0,0.0]
‘|J: —— [0.0,0.0,0.0] [200.0,0.0,0.0] [0.0,0.0,0.0]

[0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]




Dipole runs 154-163, 65 keV

[Solenoid, Horiz Dipole, Vert Dipole]

—()— [130.0,0.0,0.0] [0.0,0.0,0.0] [180.0,0.0,0.0]
——A—— [130.0,0.0,0.0] [0.0,0.0,0.0] [110.0,0.0,0.0]
—S7— [130.0,0.0,0.0] [0.0,0.0,5.0] [110.0,0.0,0.0]
—FF— 1130.0,0.0,0.0] [0.0,-2.1,-3.0] [110.0,0.0,0.0]
4%% ——(—— [130.0,0.0,0.0] [120.0,0.0,0.0] [180.0,0.0,0.0]
&
I Hfl-q —A—— [130.0,0.0,0.0] [120.0,0.0,0.0] [110.0,0.0,0.0]
} ii § —7— [120.0,0.0,0.0] [120.0,-5.0,0.0] [110.0,0.0,0.0]
—F}— 1130.0,0.0,0.0] [120.0,0.0,5.0] [110.0,0.0,0.0]
—(>— [0.0,0.0,0.0] [120.0,0.0,0.0] [110.0,0.0,0.0]
—/—— [130.0,0.0,0.0] [0.0,-5.0,0.0] [110.0,0.0,0.0]
| | | | | [0.0,0.0,0.0] [0.0,0.0,0.0] [0.0,0.0,0.0]
| | | | | | | | |
-20 0 20 40 60
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S1, 65 keV: Data & GPT
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-S2, 65 keV: June Data & GPT
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S1 and S2, 65 keV, August Data & GPT
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